Division par 1 000 (D)

Trouvez chaque quotient.

49 -1 000 = 85-+1000=
72 +1000 = 6+1000=
21+1000= 83 +1000=
34 +1000 = 2+1000=
36 +1000 = 73 +1000 =
84+ 1000 = 70+1000 =
87 +1000= 7+1000=
3+-1000= 23 +1000=
1+1000= 23+1000=
73 +1000 = 91+1000=
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Division par 1 000 (D) Solutions

Trouvez chaque quotient.

49 -1 000 = 0,049 85 -+1000=0,085
72 +1000=0,072 6 +1000=0,006
21+1000=0,021 83 +1000=0,083
34 +1000=0,034 2-+1000=0,002
36 +1000=0,036 73 +1000=0,073
84 +1000=0,084 70+1000=0,07
87 +1000=0,087 7+1000=0,007
3+1000=0,003 23 +1000=0,023
1+1000=0,001 23 +1000=0,023
73 +1000=0,073 91-+1000=0,091
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